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. Haley will not go on a cruise because the boat may sink even timugh cruise s

are very rarely involved in accidents.

Is her decision based on theoretical probability, experimental probability, or
subjective judgment?

a. Subjective judgment

b. Experimental probability

¢. A combination of theoretical and experimental probability

d. Theoretical probability

. Ms. Frizzle interviewed her students and asked each one how much he or she was

given each week as an allowance. In this survey, which of the following might be a
problem?

a) Privacy

b) Timing

¢) Use of Language
d) Cost

- Which of the following data collection methods would provide the most accurate

information about grade 9 students’ lunch choices at a school?
a) Survey a sample of students who eat lunch in the cafeteria
b) Survey all the students who eat lunch in the cafeteria

¢} Survey a sample of all students in grade 9 in the school

: g() Survey all grade 9 students in the school
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4. A local political party wants to know what people think about a new by-law
banning certain types of dogs. It sends out a newsletter to everyone in the district.
The newsletter contains a questionnaire and readers are asked to return their
responses by mail or email. Which sampling method was used?

a. Self-selected sampling c. Simple random sampling
b. Systematic Sampling d. Cluster sampling

E E 5. A large white square represents an x-tile, a black rectangle represents a
—x-tile, and a small white square represents a |-tile.
Write the polynomial represented by this set of algebra tiles.

LCinne:

B. —2x%4 3%+ 4 b. 2:2- 3244 C. 2% -394 d. 2x-3x*+4
6. Which of the following expressions are polynomials?

i) %x

i) 1-5.50%

iii) 2/t

iv)3.5

. i, il,andiv b, iiandiv c. i, i, and iii d. i, i, and iv

l i 7. Identify the polynomials that can be re
22 -5+6x 2 U+ —5
1) 222 —6x+5

iii)-5+ fix— 2x* A
@x-i-r e = ﬂ}ﬂz tek—5 .

presented by the same set of algebra tiles.



Practise Exam - Second Semester.notebook

Ca bme like terms. Sketch algebra tiles if it helps.
f _ A X
2 d) =5
®3x2—5x C. 2x% -4z

{ ;9. Subtract: (3x—Ta® +2) - (x° - 5+ %)

_.;+ Zx&xJ

T,

w

ﬂ —1x + 35— L_ i l].c -3x+7

b. -i1x* -9x-3 &- 112% + 3x=7
[ 10, Multiply: { 2)(4:- —fe=T)
- BT HIAL I't ”
8. _gc-12-14 (&) -t v 1204+ 14
b. 2c*-2c-9 Al S
—20p° - 16p
11. Divide:T
Sy
a. Sp-4p b. -Sp-4 (c.)5p+4
2. Solve: 5x{ 15 3 119
i i |

46 -
a % fﬂ’l% b. 9

5
52
,@_13. Write an equation for this statement: A number divided
i § B X2 .s b X543 C- Zy5-9

. X
2, plus 5, is 8. —
d. ;+5 i 2‘
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d. 3z +5x

-1y *ed) - (h -5 ven)
_g'?xﬂ]“fﬂ@-;ﬂ

| -

“iy T34 +F
T )
- 4pf =
d. 9p 5!0 i

+5=8

—~— L
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a. Pand (} b} Pand R

A

AN

a 133 b. 10

[u]

Ca

a. 523 m b. Z1.6m

When the shadow of a flagpole is 33.6 m long, a 1.8-m fencepost casts a shadow
2.8 m long. How tall is the flagpole?

June 09, 2016

c. Rand 8§ d. Qand$§

E ;21 Determine the length of EB in this pair of similar triangles.

A Apge — AHCE

He - B= = A€
A o P AD
AL - LS
N
@3 d 5 %iijuﬁ’

£-8
c. 21.6m d 126m
ﬂ'!lcfau.l ;Flllcfﬂw-
T

] n.i
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32. Complete the table of values for the following equation, then draw the graph.

P =% — 1
Show your work for the first two values of x.
X ¥ x=-2 x=-1
r=3x~1 =3x-1

s = e X
“““““ ] =mig)i=l j-jf_-ﬂ .

--1 —-I?l ‘-\-_ﬂ.):-_b_j :_;il--__]]-ll

ol Gl = ok i o

A

2 \5’_‘

SSuN
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33. Jeff got a new cell phone for his birthday, His plan consists of a set fee of $20,
plus 20,50 for each text.

a) Write the equation that represents this linear relation. J f_{) + O 54 %

Ll = + £ 556”2‘)
,iD +5b
- 2600

—_—

b) What is the cost of Jefl sending 112 text messages cach month?

¢) Determine the number of messages he can send for S130.

j_«e— ::'; + 060+

C/@# 050+

050+




	Page 1: Jun 9-11:06 AM
	Page 2: Jun 9-11:08 AM
	Page 3: Jun 9-11:09 AM
	Page 4: Jun 9-11:09 AM
	Page 5: Jun 9-11:12 AM
	Page 6: Jun 9-11:13 AM
	Page 7: Jun 9-11:14 AM
	Page 8: Jun 9-11:14 AM
	Page 9: Jun 9-11:15 AM
	Page 10: Jun 9-11:15 AM
	Page 11: Jun 9-11:15 AM
	Page 12: Jun 9-11:16 AM
	Page 13: Jun 9-11:17 AM

